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l. Which state has the
toad in India?
(A) Andhra Pradesh

(c) Rajasthan

2. The signs marked
colour) are..

longest national highway

(B) Madhya Pradesh

(D) Uttar Pradesh

in this triangle til""'i.a

3.

(A) Mandatory

(c) Informatory

(B) Cautionary

(D) All of these

PUCC stands for 
Questionrdi2

(A) Primary Unlicenced Car & Carrier

(B) Pollution Under Control Certificate

(c) Pollution Uncontrolled Cancellation
Certificate

(D) None of these

Free passage should be given to the t"'ffi;;;
types of vehicles :

(A) Police vehicles

(B) Ambulance and fire service vehicles

(c) Exp.ress, Super Express buses

(Dl School taxi

QJestion ld ;4

Minimum distance to be kept from the vehicle
going in front
(A) 10 metre (B) 5 metre

(c) safe distance according to speed

(D) 15 metre

Who has been appointed as brand .rO.;;;;
for Swachh Bharat Mission in Uttar Pradesh?
(A) Sunil Gavaskar (B) Akshay Kumar

(c) Amitabh Bachchan (Dl Sachin Tendulkar

QJeston ld :6

t. HI{fl q fu-q{ {t\-q
qrqEri vr-so tz
(A) 3Tr.er q+sr

(c) q1\'lt€ll=T

2. {q fru-q (drf, w) q

q -,{ffii c"fr iTSq

(B) qw r+qr
(o) saq risr

Qrestion ld : 1

^'A- .6- r\.
\tl lcPrl lqF.1 6

/\
(A) GrM
(c) q{qrTqfi

(B) q-+-crfi.

(o) t qrfi

PUCC it al-dd t
(A) qrgqft 3ndEdRTs or{ gu-g d-Rw
(B) m-qqrq Grus{ HdIm qfrffi-e
(c) m-qq|q er+o=*ee +f+rdrTn l]fiCffie

(D) Eqq € oig Tdi

frq l-6r-{ fi qr6di qn qrfi .r* #"r;
qTBg'
(n) gfus q-€q

(B) q€-A-*r *i GTf}q ql-qr qrf,{
(c) \'fl{iTl, TJq{ \R{ir{ qlf
(D) RT-f, eRfr

5. eTri ad € q-d-{ rd qq6q ffi qS qs-fr
oftqr
(A) 10 ft-{ (B} 5 +f,{
(c) Tfr + 3i-Eq-R U{hn Et
(D) 15 fte{

stN qt{r q str
\ddsidsqqfN
(A) $+d qlqfq-{
(c) erF-orq q@fl

qrrfl frqH fi*"ru
ftgffi fo_qr rrqrz

(B) eIffiI g,qR
(D) vrfu{ ifgdsq
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7. Which city is going to host the 2017-lndia-
ASEAN Youth Summit?

10.

(A) Lucknow

(c:) Mumbai

Who will be the
Aayog?
(A) Dr, Rajiv Kumar (e) Ritesh Gupta

(c) Vinod Paul (D) Manoj Mittal

What was the theme of 2017 ,r."rr.1r"..i
Youth Day?
(Al Youth Building Peace

(B) Change the World

(c) Youth, Yoga and Mental Health

(D) Physical Fitness-The Motto
Qrestion ld i I

Sitaram Panchal passed away recently, with
which field was he associated?

(B) Bhopal

(o) Delhi

Qreslion ld : 7

new Vice Chairman of Niti

(B) Politics

(D) Film industry

(B) Yajurveda

(D) Atharvaveda

(B) Cotton

(D) Tobacco

11. Who flagged off "Namami Gange Jagriti Yatra"?
(n) Shri Nitish Kumar (e) Shri Naveen Patnaik

(c) Shri Baba Ramdev (o) Shri YogiAdityanath

t2. Which is the oldest of the four Vedas?

(A) Journalism

(c) Sports

(A) Samaveda

tc) Rigveda

(A) Rubber

(c) Jute

rs. Which of the following important 
'.drr,;;":;;;of India grows well in black soil?

Qresiion ld:13

7. o)"q {{r YI6{ 2017
qTrqdq rh1 ffi
(Al E's{s'
(c) 

5d-g

{fintqlq 9qla or
fr'tr St r) r{"iq
tnt tn-olRor

$rft{-qn gqT Rrs(

dqrf,
Rn"ft

qf{il
ot'nz

(E)

(D)

10.

ffi GrTqtT fi =rq \rqTrqf;f -+)=r diiz
(A) d. qr$*q gqn (B') ftdvr gqy
(c) ffiE " (ol -ql)-r"frn6

,o,r 3iq-ffiq gqT R-{q a-T ftNq wrT erT?

(A) Ufl srift ol frqf'r m-s* Sl

(B) gP{qT o) e(d)
(c) 

UqT, Eil.Tr eYr qlqPlo. {qlTa,s

(D) qlrftRfr snq.q.3T|(di q|qrr

(c) d-d-*q

Erd fr ii frerq €GTr, T6
vqi sh

(B) {rqftfr
tD) fu-fl B-stT

Qreslion ld: 10

?ril i-di { ii rrq€
(A) r{r-q+E

(c) Tra-q

fuq q ii ot{ lfr
tr-{ff, alift FrsS ii
(A) rq{
(c) qe

11. rrqffi .-in qFIfr qI"[T,, upi fuTIi qgrr
fu-qrz
(A) S frftq grqT{ (B} fr Tfrq q-eqtzrn

(c) +ft qrqr iTqiq
(Dl +ft *'fr eirke+nar

qrftq otq {fl tz
(B) q-g{E

(o) enrfilq
Olestion ld : 12

q-6FTTUt qpft"q 36prf,
de.rq sq-qft tz

(B) oqrs
(D) dq-R 

e,esronrd,.r3

12.

13.
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ta. Which state is the largest producer of coffee?

ts. What is the minimum age required for a person
to become the Prime Minister of India?

(A) Assam

(c) Tamil Nadu

(A) 2L years

(c) 30 years

(A) Jaipur

(c) Dehra Dun

(A) Apple

(c) Banana

(B) Karnataka

(D) Kerala

(B) 25 years

(D) 35 years

lion ld | 16

the'Chakra' (wheel) of

(B) Dark green

(D) Blue-black

(B) Vadodara

(D) Udaipur

Q.ieslion ld : 15

t0. Which is the largest public sector bank of lndia?
(A} RBI (B) State Bank of lndia

(c) Bank of Baroda (D) Canara Bank

17. What is the colour of
India's National Flag?
(A) Red

(c) Navy Blue

18. In which city is the Lake palace located?

Sreslion ld: 18

ts. Which fruit is cultivated most in India?

21.

(B) Pear

(Dl Mango

Who was the first lndian to win the Miss
Universe title?
(Al Sushmita Sen (B) Aishwarya Rai

(c) Yukta Mukhey (D) Lara Dutta

Who was the first woman astronaut "t ffi,;;origin?
(A) Bachhendri Pal (B) Santosh Yadav

(c) Kalpana Chawla (D) Prabha Dutt

Orestion ld :21

ro. qr)q {fr
do tz
(A) RBI
(c) +fr

q-A-s fu-s
qqgT

+fl{T{q

tz. rrlqf, d
(A} qIC,T

(c) ifr

te. dfr
(A)

(c)

r+. otq rrT {r-iirr oTwt or qF{+ qEI s-qrqo tz
(Al oN{rT (B} qnfc-f
(c) dfud-{tr (D} +-{d

rs. rrr{fl ol.sqm dtr e-q-:l m ftq furfi*J#
of qlon sil-g @r E)-ft qrRT?
(A) 21 q{ (B) 2s q{
(c) 30 qS (Dl 35 q{

^- ---a ---r .----r 
oleslion Id : 15

+1(rt cpt {lqq qs} qrrffio q\t at

(B) qrcftq €d t-o.

3rTw. e-stql to) Swt do

",q 
,u'r ,b' qm- qtr \t do #"j; "

(B} TTE_{I E1.I

+dT Gtl frfl-Yqm

q-sr d ilz
(B) qslq-q

(D) seiqE{

q-n ot si-fi n-qlfsn #Tffi
(el Tl$qrft
(D) 31q

fr-q {FE-d 6-r tuoH tffi #T*
qn-ftq otq eftz
(Al Efual dq (B) W qq
(c) UfiT TS (D) dIqI (flI

Ques[on ld :20

qi-.ft-q Td of qerq qFdr effia qr* ot{
Sz
1n1 qffi qps (B) €etq qreq

(c) trFFTT qtctdl (D) gqt qn

19. lTrqo fr fu-{]
te
(A) +q
(c) fi-dT

zv.

21.

Q.reston ld :21
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zz. Which is the southernmost tip of India?
(A) Kanyakumari

(cl lndira Point

zs. Which of the following is the pair of the
National Animal and the National Bird of India?
(A) Lion, Peacock

(c) Tiger, Parrot

(A) Minjar Mela

(c) Car Festival

(A) Neptune

(c) Saturn

(A) 196s

(c) 1980

(B) Nagercoil

(D) Kovalam

(B) Tige[ Peacock

(D) Lion, Parrot

(B) Carnival

(Dl Ugadi

(B) Uranus

(D) Pluto

(B) 1940

(D) 2000

(B) Paris

(D) Geneva

24. Name the novelist whose stories revolve around
an imaginary town - Malgudi.
(A) Premchand (s) T.S. Pillai

(c) Mahashweta Devi (D) R.K. Narayan

zs. Which is the most popular festival of Goa?

zo. Which olanet was discovered last ,n ,rr0l"'0""'o''u

zz. Which of these was not a leap year?

Qrestion ld :26

QJeston ld | 28

S.reslion ld :29

za. What does the term 'lithosphere' refer to?
(A) Plants and animals (B) Interiorof the Earth

(c) Crust of the Earth

(D) 15 km belt above stratosphere

zg. Where is the headquarters of the United
Nations situated?
(A) New York

(c) Washington DC

zz. ril{fl q-t qlgurf,q
(Al o-qgqffi

Bi{ ot{ v+r tz
(B) q|I-{-4t{fl
(D) o-t{cilq

24.

25.

(c) gfrqT t'rf€

fr-q fr d st{ er qF{-fi-q qrqq *'T;
Rrqq qfr o-r frEr tz
(A) RqE-+{ (B} ilq-qi{
(c) qrq-aif,r (D) fr+6-a)nT

Qreslion ld :23

ifi-l -qrrr wil t fr4-€-+1
qrR ql_m JS + GrNilIl-{T

(E) d.vq.M
(D) eTn.fi. qrqptut

.hqr ol qqnq-6 dtnDq @tETq do *;"j;''"
(A) filq{ +dT (B) ofi-d-f,
(c) ol-r-d6n (D) sqrfr

ie3o d fo-El rra dl triq oif, q .fi T$

g{{ tsqal|-€cFl-{
oerFd qrdF-o-
qf,fi-{ e-.nfr dr
(A) iqziE
(c) qETqd-fl +ft

FqqQotqr{rili
(A) 1965

(c) 198o

-'"frq-sd =r€[ qrz
(B) 1940

(D) 2000

+gq
ATtr

26 q$
efrr
(A)

(c)

(B)

(Dl

qtEil
wacl

27.

lq_ftRffir{ ffi siqffin }2
(e) qpqq Gilq fiq
(B) yefr or etioRcn qFr

(c) gofr o1 vdd
(D) 15 ffi o1 qfusor TfikTItT qusll fr

s-q{

qgda rlq o-r gc{fr-dq o-d w B* gT'o-'o'"

(A) aTqi& (B) qRs

(c) qrpiqg{ DC (D} fr+qr

Qreslion ld ;27

Qreslion ld :29
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30. l.n which part of the plant does photosynthesis
take place?
(A) Flowers (B) Roots

(c) Stem (D) Leaves

31. lf A is the son of Q, Q and y are sisters, t-;:"il"
mother of Y P is the son of Z, then which of the
following statements is correct?
(A) P is the maternal uncle of A
(B) P and Y are sisters

(c) A and P are cousins (D) None of these

32. aab_aab_aab_ (Which letters are appropriate
from following to fill the blanks?)

33. Choose the odd one from the following:
(A) Mercury (B) Modn
(c) Venus (D) Jupiter

(A) bba

(c) abb

36. Complete the series.
AZ,BY, CX, DW?
(A) FU

(C) EU

(B) bbb

(D) aab

(B) EW

(D} EV

,Qrslion ld :33

Q.restion ld : 34

QJeslion ld :35

Qrestion ld : 36

34. Pitch : Cricket : : Ring : ?
(n) Kho-Kho (B) Boxing

(c) Hockey (D) Badminton

35. Winter: Jacket : : Monsoon : ?
(A) Fan (B) Trouser

(c) Rain Coat (D) T-shirt

30. sfEs d fu-*l q-q { qflqr-lig&Eur qtrd S-dl

(B) q-d
(D) qfuqi

st. qR A, e o-r d-cT t I O 3il-{ y q-6'i t I z,y at qT-dr t tp, Z o-r ncr t td)
ftqfufiEn ii rt otq {fl o?FT s-S tz
(A) P, r\ E-t q-fl il I

(B) p Gilq y vsi ii r

(c) Acil{pofuitl
(D) flii € vo fi r$r

s2. aab aab aab ffiTqfufuo q it #-";
erer l*R qenq d ftg e-S tzl

tz
(A)

(c)

(A) bba
(c) abb

(n) cir-rd
(c) d-dr

oo. ffi Wt ot,
AZ, BY, CX, DW,?
(A) FU

(C) EU

gq
di

(B) bbb
(o) aab

(B) d,frri'T
(o) i-sfHeq

(B) EW
(D) EV

$. FrqRTRila q d frsrq or qqr otfuq:
(A) grr

(c) qJfi

(B) ztq

(D) Tflqfr
Queslion ld :33

a+. ftq : fin&-e :: ftrT : ?

35. qrdl : ii-S-e : : qff,n : z
(A) rist (B) i-€
(c) trmfd (D) d-q-d

Qreslion ld : 34

Q€stion ld :35

Q.reslion ld : 36
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37. A's weight is twice than B's weight.
B's weight is 4.5 times the weight of C.

C's weight is half the weight of D.

D's weight is half the weight of E.

Whose weight is higher than E's weight?

lf DIRT = TDIR, TRIM =?
(A} MRTI (B} MIRT

(C) MTRI (D} MTIR

lf we arrange all the words (given in the ;ffi";
alphabetically, which word would be last in the
arrangement?
(a) Philosophy

(cl Philander

lf you are facing towards east, your 
'Jil;;shows direction.

(A} A, B

(c) c, D

(a) North

(c) West

(A) ( L20

(c) t 240

(A) 2s6

(c) 512

(B} B, C

(D} D, E

(B) Phase

(D) Pharmacy

(B) South

(D) None ofthese

(B) { 160

(D) < 300

(Bl 432

(D) 640

41. A sum of t 1360 has been divided among A, B

and C such that A gets 3 of what B gets and B
3

I
gets : of what C gets. B's share is:

4

Free notebooks were distributed equally ffi;
children of a class. The number of notebooks
each child got was one-eighth of the number of
children. Had the number of children been hall
each child would have got 16 notebooks. Total

how many notebooks were distributed?

3z.AF-rqq{Bilgmtt
B Or q,q=T C ci +.r; u{r t I

c.F.lqqqDqisilfl*t
D o-r qwT E r] sTrtlr t t

fu-tr-mT q'rq E S. .rqq {i
(A) A, ll (B)

(c) C, D (D)

qR OINT = TDIR, TRIM
(A} MRII (B}

(C} MTRI (D}

qR 6q fu.fr-fl d
qu'wqEsn qs-d g
otq r{r eTr+rnz
(A) philosophy

(c) Philander

t 1360 A, B,

funqiar)
I 1lr Frd,
+

(Al { r:zo

(c) 7 z+o

EsTr?
(A) 2s6

(c) s12

Qreslion ld :37

-?
MIRT

MTIR

srqi o)
3iftq qr<

sqr-il tz
B,C
D,E

R\ .rq qrq
--\.__J
n | 9{l tp+l +l

+0. gR 3TIg

(Al gfl'r (B) qfb"l
(c) qkrq
(D) ETi: i) yo tft rS

Phase

Pharmacy
OJeslion ld :39

3TFI-{-T ilqT 6Iq

Qleslion ld :40

c ii gqT il{d qi dA qd t
ii5r Frd nsTr g s) c o'T

e\ g oi-wr Rnz
(B) ( roo

(o) ( goo

(B) $2
(D) 640

(B)

(D)

{qfi\gs S e)
RPTI fusrn B I

41.

42. y6 Feil A l+qliWt q UW **-;
qqclq ri f+oqq Elrr I qF+fr e-'i @t sq-+t
{icqr tt va qnr #t ffi-ffi t ern q-'qi
of r{sn 3rTfi o-t a\ 6i e-d €F\ 16 +ngfi'
Fffi-fi I d\ grd +{$al o-r fr-"d{'I
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43. A man takes twice as long to row a distance
against the stream as to row the same distance
in favour of the stream. The ratio of the speed
of the boat (in still water) and the stream is:

44.

(A) 2:1
(c) 3:2

equal to:
(Al 2

(cl 2.43

(A) 0.2

(cl 0.2x2

(Bl 3:L
(o)4:3

{0. 16ezxo. sss s){0. sss s)
{o.z z z zXo.666rxo. I z so)

Quesiion ld :43

is approximately

+s. Which of the following are in descending order
of their value?
(A) 7?,3456 (B) 7.2 3456

3'F'r's'6'7 t's' s'i'E'V

(Bl 2.4A

(D) 2.50

(e) 1+ 0.2

(Dl (0.;t)'

(B) 630

(Dl 2s20

(B) 18 years

(D) None of these

(c) 1?3456 (Dl 6sq$321
2'5'5'6'v'7 Tn6' 5'z'5'3

Queston Id :45

46. The least among the following is:

zl7. What will be the least number *hi.h**i"n
doubled will be exactly divisible by 12, !9, Z!
and 30?
(A) L96

(c) L260

Six years ago, the ratio of the ages of Kunal and
Sagar was 6 : 5. Four years hence, the ratio of
their ages will be 11: 10. What is Sagar,s age at
present?
(Al 16 years

(c) 20 years

43. \rO 3fTEq q')
ilo- +qilf{6R
tfr oo rtor
+nT dl rfr
or ugqRT 4qT
(A) z:1
(c) 3:z

qrqt o1 ffif, RrTr q Tfi Eft
o-{i fr Errqr zb1 RpTr q rrrirq
ft-u- Q gtqr w+ru drilr t I

Rarq qE fl ctt{ qTRT fi +q
tz

(Bl 3:1
(D)+:s

(0.1e azxo.sss:lgjlge
(a.zzzz) {o. 6 66 :/Xo. t, z s o)

trII+Tq fuTI}'

qrqn t'r
(A) 2
(c) 2.49

FrqfrTfriln q *
gq mq q tz
(A) L2 3456

3 "E ' 7'E'E'i
(c) L2 3+56

2 5'5'6'7'7

ffitun fr d otr
(A) 0.2

(c) 0.2 :< 2

q6 Et{ {fr
-;cp\'l t1 c.l6

fflrTMfl ta
(A) 196

(c) 1260

E: IfTFT q-d-d

st1qTd 6 : 5
ot srgqld 11:

sq q?Tr *e
(Al 16 qrfr
(cl 20 rrTd

(Bl 2.40

(Dl 2.50

Oteslion ld :44

=$- -' 
* A- -----\C.prr 11 | \J$cp +ll-l q Llad

wr g+an *z 
Q']esrionrd:4s

(B) 1 + 0.2

(D) (o.zln

1.23+56
5's'E'i'E'i
fi54327
i'E's'T's'3

(BI

Qrcstion ld :46

A7 qqdq deur..* lM gf{r
'12, 1€i, 21 3TR 30 -$ 

{ufdq]

(B) 630

(Dl zszo

gturk{ etq 1rr{r ol #*l1
erT | ?rf{ T{rT -h- qrE 's{fr1 sq
10 d.n t e) s+rqq +t q-Oqro

(B) 18 {TTFT

(D) E+f e ot$ TS
Qreston ld | 48
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4e. Seats for Mathematics, physics and Biology in a
schooi are in the ratio 5 : 7 : 8. There is a
proposal to increase these seats by 4O%, SO%
and 75% respectively. What will be the ratio of
increased seats?

{nl ll3:a
(c) 6:8:9

(B) 6:7:8
(Dl None of these

(B) 10

(D) 20

Find a positive number which when #r.;
by 17 is equal to 60 times the reciprocal of the
number.
($+
(cl t7

(A) L gram

{cf ! ke

1- light year =?
(A) 9,S :x 1{16 km

tcl 9.S :< lgre po

p1. The salinity of sea water is determined by the
amount of common salt (Sodium Chloride) in

of sea water.
(B) 10 grams

(o) 10 kg

(B) 9.S x 10e hn

(D) 9,5 x 1018 k''n

!p2.

What is Dry lce?
(e) Solid Oxygen

Fl sbfO Carbon dioxide
(c) Solid Hydrogen (ol Solid Nitrogen

Qrestion ld | 52

Qlestion ld : 53

is

QJeslion ld :54

Q.restion ld : 55

5,4. For proper formation of teeth,
essential,
(A) lodine

{c) Flluorine

Diamond is an allotropic form of
(n) C$rbon (B) Hydrogen
(c) Nitrogen

(B) Copper

(D) lron

(Dl Silicon

50. qd sr-{ {flqr qTK al|qq fut{rf 17 h1 qk
€EqT fr qffiq fi oo uqr fi e-{rq-{ il
(Al 3 (B) 10

(c) 1r (D) 20

s1. 
",gq 

fr qffi or srqrq;r lrr1u fi ;"";
qTqNq rqrF (TilRqi wil{T-{sr +tffil-BP* e)-or t r'

4e. \r.F {fi{ q TFTd,
r{-d s', z:8 fi
m-IIgT: ,I0o/o, S0o/o

e-ftilcri tq-frgt(Alz:si4
(c) 6:B:9
(D) ETif t yo fi

dftr*l eiq d-q fr-flrq o1
3EqTndtrg{rfui q
3ilq 75% 9k a-{i o-r,ffi o-l Gr-$ia qqr e}{rz

(B) 6:7;B

ils

(B) 10 qFr

(o) to f6-qr
q/eslion ld:Sj

9,5 x 1sv fm
. .A .G---.O.

9,5 x 10ru laql

Q./eston ld :52

(A) 1 qFT

(c) 1 ffiTr

1 IcD-RI 4{ =?(A) 
e.5 y 160 ffif (B)

(c) 
9.r; x 16r.a fo-dl (D)

gs- qfi
(A) Bis
(Bl 6t{1
(c) d)-s

wr tz
efilR'fi-qr

?DT'd-{ sTvsfrWr{s

54.

Ell9l\t-l

+d) d irfufl FHfnTtt
(A) sndrn-{
(c) qtilfrq

+iT fu-qrfiT GIII{SrI
{A) wrf{
(c) qndo-q

(D) Btq] qr$-dq-{

Qreston ld :53

fi ftT sltr{ro

(B) oTqi
(D) Filsr

lt?
(B) 6rg-Sq-{
(o) fuftffi|q

Aleston ld :55
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The good sources of iodine are
(Al green leafy vegetables

(B) Seeds

(c) fresh vegetables and fruits

{ol $ea foods

The natural fats and oils are composed of
(Al Farbon, Hydrogen and Oxygen

(B) Carbon, Hydrogen and Nitrogen
(c) $arbon, Oxygen and Nitrogen
(D) hlydrogen, Oxygen and Nitrogen

In gQneral, wind speed of 105-137 cause
{n} hinor or no damage

(B) considerable damage

(c) severe damage (D) extreme damage

GrTqM{ sl erwr rfif, t
(A) Eft TdER r+furd
(B) ff-q
(c) orqr q+M eilq q-d

{Dl Trgr$ iqrq q{ref

yrg-fu-fr q{fl fi{ ffrs fund q-i *z
(nl tnr$q, E S*qr etq ffis{
(B) or$q, Er{q'l-q{ Gilr qr{dq{
(c) or$q, ffiq-q 3ik qr{q|q-{

tot erESfq-{, ffiqq 3ilq qE,+q-{

.,rrT=r ;flq w rcs-13r Eqr at nft #"o#
R)

{n} o-q qr R-flEE TS +dT
(B) ordl 1en-{fl-q dor tt
(c) .irft p-nm drn i-t
(D) GriqfYo' F-{JTq d-or tl

Po.H-m) ,ntRror or
(e) qrE-eHFqqT

(c) bqrl

QJeslion ld : 58

rrffir T6 rn-6r qraT t?
(B) g-fr @fu.o-al
(D) q*f-a

W-+1q rrclcrcr o) qrqi fi fr\ qtt{ rfr Ff,r$
o-r grtqra f+-qr wu tr(B) Farad

(Dl Henry

Qiestion ld : 56

QJeston ld : 58

QJeslion ld t60

(A) qIFFE

(cl +q{

(B) S-iTs
(D) iqt

57.

__-__+______ are called the powerhouses of the
cell.

{n} Mitocnondria (B) Vesictes

{c} lungs (D} Liver

'Ihe unit used to measure ,magnetic ou", ',:*oon'o''n

(A) Fascal

60.

{c} V[teber.

Qrcslion ld :60
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ENGLISH LANGUAGE

Choose one option that expresses the meaning
of the sentence
The murder of brother
(A) Genocide (B) Fratricide

(c) Sororicide (D) Suicide

choose one option that expresses the '"" Jl;
of the sentence :

Without payment or free of cost
(Al Fratis

(c) Stoic

(B) Hedonist

(D) Precious

Choose one option that expresses the most
appropriate meaning for the ldioms out of four
options.
Bag and baggage
(A) Altthe clothing

(s) Without any belonging

(c) Leave

(D) With allonets belongings

Choose one option that exprerr", ,n.-;";
appropriate meaning for the ldioms out of four
options.
Bed of roses
(A) Very soft bed (B) Dull life

(c) Belong to (D) Full of joys

Choose the most appropriate preposition;:;
four options.
She has three children her first
husband.
(A) of
(c) by

(B) in

{D} frorn
Qrestion ld :65

66. For blan k space, choose the proper article:

67. For blank space, choose the proper article:
Nile is the longest river in the

world.
(A) a

(c) an

Choose the option that expresses the
meaning; of the giverr word.
CONJ ECTU RE

(A) Hesitation

(c) lnclination
Qreslion ld :69

6e. Fill in the blanks with suitable option.
Fares are _ high in this city.

Let's go to
(A) a

(c) an

(A) fascirratedly

(c) exorbitantly

Choose the option
meaninElto the givert

CONSEIISUS
(A) Agreement

(c) Quality

Mexico.
(e) the

(D) no article

(s) the

(D) no arricle

(B) Guess

(o) To prevent

(B) extraneously

(D) passionately

that is

word.

Qreslion ld :69

opposite in

(B) Disagreement

(o) Bold
QJeston ld :70
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RFfiqrfi

qfr rftu t

otq qr qrqq

i qrm foqTt

71. ft{.i
(A)

(c)

(A)

I
(cl

(Dl

(A)

(c)

dt
Yrq
(A)

(cl

(A)

(cl

qf,frn

79. rgler

(A) gYfr
(cl qrTqlMqrwte

$;

(A)r

q-qqri t orq fuqr
i oFr ffiqt I

gf.dlf qrdq qfr t :

(BD *{r
ffi

@-rr; q-qs g,

fib
(Dl 5rf,T

oT irqsft f{pf6

(D) ritq

tcl $

ftq

frnffiffiF

(Bl

(D)

(D} 3TI

d otq HT Texq d.lt
(B) g
(DI 3]Ifr

ot{ tfi qdff r{-$ t

tz

(A)

3

o.r qqffi t

eo. ,ftqup Er wnrnoff qrq t

s*l (Bt 
Uer,

(c) trT, qlq, rp;q (D) tq. I

ffi#ffi
(Dt qfr





8e. In Haryana government who holds the Ministry
for Tourism, Archaeology and Museums?
(A) Captain Abhimanyu (B) Ram Bilas Sharma

(c) AnilVij (D) None ofthese

Chief Minister Shri Manohar Lal Khattar belongs
to which constituency?
(A) Mahendragarh (B) Sonipat

(cl Karnal (D) Ambala

From where had the Prime Minister 
'r;;;;Beti Bachao - Beti Padhao scheme?

ss. In Haryana, mosque
situated in the district
{Al Gurugram

(c) Hisar

(A) Mor.ni Hills

(c) Aravalli Hills

(A) Turban

(c) Sari

Which district of
Abdullapur?
{A) Vamunanagar

(c) Panipat

of Ala Vardi Khan is

(B) Fatehabad

(D) Karnal

(B) Shirt

(Dl Shawl

Haryana was earlier called as

(B) Faridabad

(D) Ambala

(B) Ambala

(D) Panipat

In Haryana, where is the origin of Tangri river?

(A) Rohtak

(c) Hisar

(e) Vindhya range

(D) None of these

Phulkari is associated with Haryana, *n,.n"',
mainly a type of embroidered

Which is the highest award of State r""";;;;
for the outstanding players of Haryana?
(A) Arjuna Award (e) Bhim Award

(c) Dronacharya Award (D) None of these

Qrestion ld : 95

ea. 6ftqpn ii em trfi
fr qt.q5 e'z

{A} Twnq
(c) Fs+n

sFI oT rfcEs{T fu-q fr-d

(B) uierqrc
(D) -m-{qIFT

d2II
qt.fta

Qreslion ld :95

E.RqqT tl-rcnr{ q sder,
riqETdq) fi frqTrT o-r qTrdq

g{I"il-f,
c\ ,.\ta$q?

91.

YZ.

tz
(e) S-eq 3TfYq-{ ta} qrqkf,rrr yrqt

(c) erfra f+o (D) E-{ri i} of$ q-S

Wqrffi * T+f,{ ;drd qez{ fu" fttn-";
eid Q ri"iffo tz
(A) qiriiltr (B) qtffqd
(c) eFFf, (o) sq61

qtlr{iicl i "d-E
m-d d 3TKiq o1
(nl tcrro
(c) Fs+rr

Qreston ld :90

q'qToil, d-fr q-orer) !" qlqqy
si'z

(B) GITGITFTI

(Dl qrftTf,

ERqrqr q diTfr q-dl o-r s-.q-H o-d w tz
tn) frq{1 q-dnqaT (B} ftw fot
(c) 3i-q[t|fr q-fidqrfl (D} flq c} o}-$ TS

E,_d-sTfi ERqq t riciDrd t', qE 
=*":L*;qo-x ol \B"tqst ,n1 d

(A) wr_€l t | (B)r vrd t t

(c) r+r9tt (o)$fdtt
Qreslion ld:93

ERqT"r q erfrfuRrw fiffi fi fuq {rii{T
Tfls-rq .D'I 11-qt@ find eqr tz
(A) q-fi vqrd (B) $q \-fl-d
(c) d-qTqd \rqrd (D) ETq d oi$ TS

EfuqT"Tr o-r 6t{ lrT ftilf,r q-€-d d**
ED-EFIIflT qT?

{n} qgflT{R (B) qrTfl-qrc
(c) qlft,ro (o) qqlsp

94.
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Which is the state tree of Haryana?
(Al Banyan

tcl feepal

who won the Third Battle of Panipat in rhi'"

(B) Mango

{D) Neem

(B) Akbar

tol Ahrlad Shah Abdali

Qrestion ld :97

of Haryana Governance

None of these
qrestion ld | 98

under which district

(B) Gurugram

(D) Panchkula

ERqT"TI O1 Ttr'ri
(A) qe

(c) frmn

geT otq qr Bz
(B} gllrt

(D) trq

s7. 1761
(A)

(c)

firr{r gq ffi
(B) s-d-w

{D} ggIrqPTI€

gqTq qrfYfi-{nT

Qretion ld :96

fior qrz

3r'trs

--#*ERqrqt 3Tfknq-{
otq tz
(n) Fq'gqn
(c) wdk ftiE

$ qr-frqf, o-r
q{kil(A) Marathas

(c) Hemu

Who is the chairman
Reform Authority?
(A) Krishna Kumar

(cl Ranbir Singh

Kalesar National Park falls
of
(Al

(c)

(B) Prartrod Kumar

(B) L991

(D) None of these

ss. q-pfrq{q RTSq sqFT ERqruTr +
Gr-<rfd eiror *z
{n} rrgr+w
(c) gr$rht

(Bl s+{
(D) flq

gqR
d et$ qS

Qreslion ld :98

ffi-€ frrd *
(B)

(D)

vrcq eTftfrqq f4-o u{ ett
(B) 19e1

1o1 qqrf t qng i-S

(D)

{$qrq
ri"-f-dlKurukshetra

100. On which year Haryana Panchayati Raj Act came
intO force?
(A) 1.987

rcl [ee4

Qreslion ld : 99

QEslion ld : 100

too.5ftg;q1 qqp-fr
ffr-q rnnz
(A) 1982

{cl 1994r
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Ts !R;T-q=r ol ea *-r+ t wS frq FtEfi 6f ci
grgqFht * frs E*q ftdrr

1.

')

A

10.

11.

12.

13.

1A

c-ifs"wa +t e-a +t 3ltr e-dfi caa + fr('Frdrfud ro wm 3rsrtd 2 S I

---EJJ__lrcd( qd n q6er .hqqr 
'rr.r d'fr':R* fr ga (l-16) 1s $lr (rm. OMR Jcir{ sr6 fid. 6rRqt Erm.t t :nqfiqt qt s-dTF fr stfi t

fu qce cf-q fr"mE fi 3rd{ gfdft-d-d +-t d fr 3{rcfi :R"-sT slh ovtR 3Ftr{ qjFF *. srft 1oo sdir aiE"isi'gv ii 91 {s fufr efi q-mr *
qifr il& \m t t ffi eft r+r< 6I hdqft cTq sri crr :rm$ +t cfufierfi d ;-16 Eq+d 3it{ oMR 56q q-f,fi -crcrsr dfi qrB\' I cftsJT
cRfi ili h ci-{ F;rd casTq t-S RFT?t-d} w fr"sn -61fr-+r dnrqi I

{€:kfir 3l|r oMR 3d{ q:ffi d tqr 3{qar t-a rrqr frcm a a1d r

wa-5fleror.ill-r Oun T(|{ wf6 # fufr ,fr Tro *i a ei mrl:ltr a fr} t

g+qffi Ei FqE qa#q q*sr-q{ mar t, B'e'qt aro €r d d-Er rrr rrhf, qtt rs Feri;r rfr fitq+r e},rr qTG! '.i-6T a ftw gar t r gs
std 6t ffi {rsqB'd 3{ffi 6ar*r rmFta 6-4r urtrv r qo* :rfrftqa qH ilerr (:Tr r'6' cfi-{q-q{, f$ ftn wka aedT., a-d-qtdr
qfcqq-T{, rmm mr'6, crs+e fie d d s}t t'+ qfrarr-*Fc w dFrT 3{ffi.t I Fd-h; 6t} qr s+*qcff +} qtarr..+d et srdrr ff r4aF
r€t fr sR'rfr t

3Tsqeff oMR trcT{-q?tr-it arq, tfr d. 3+t g+-d-c ri. sfr ert I qfr gs-Sc d-. rh fr('fuqr lrur eera wfi o}gr arm t qr q-m C a{fu6
Sm-ec;i. frs fr("R'H ?TI frftn-gen arq :jtt tra a-rsr aff e{t qv t d st qcra atr* d ffir rrqr Sd'c d. q1;rT drrr4r 3.i'lr jan-qrfi
m qer*a r& frqr drr'"n | {s-*E a. ffi f trffi sfi qor* sr 3fr or g+ ri}'i qt:+qcfi Fni fi qMt rnt TrTila * hv randTfi
d-qr t :w-:r*q$ :rqi Ert 6u * 3iJ1b +r rik oFor-$sq$ sqi sTt FFr + 3qr 6-1 3iFd gqRrftrcrs- q{, oMR ran qro tr{ 3lI{
ar+i$Qa qshfr Ji ild 3it{ itrrd Flr;r rR rsarafi sft 6U t

7. cfrfir-etdfrqR-freffi ff5cFrftd. n:rqfff+tc-arr-q{qrdeqrdtd5garwrn-{iH3ik3f{b *frsrrd.-}H I

8. 3$qFtqf 6inin-c-*AGrrStfuiounidr-qiFr+Fffirffronir.r3Talin?rfifren-daildrii3itrrfr{teB loMn 36qc-rfi.'l
3u tft ffi sitr rri *- cesq rt fer+ * fus {Ts, aqa, ;fe, shE rra vcr{' I ar5ar sTR fir yritq qr FrS :Fq' s-{.R t $ cfd
*F . W" frSq t I fi tlFT *,TA t d FR qirrr fi-rsa +-r Fqr frRar ft sqrFr {.f,ird rr5 f*ar iil(rfi |

9. :+*qtr-"rt 4) +nd* fi ilrtr t fr i a*ns, qfdr{d $ffl, ffi sfi c-nrq *r FS, &-c, F}+EiA-6 qr e-qr drir} ?iT, +d', qFV6T, gt.a-r, sn+n{
3lkR-sr6"g{TG-el"}iftq.ilrdc-dqcftsn-itqdaddrt3ikafr:@,ifd,st"rfrqFd;r6rq:rFcqqrG"fisfie?nn6l}r.Wur
vcit ga dq3n t qFr frffi afi 3{F"ft a} qfreTr-Fid d"rdlr a-& Fqr dn'dlT | ,+frqn-qer 6 ri6 ffi :ileqeff. +- cre qft ar}qrrf, sl-f, qr
it$ €l +tg +E ful-or rc*e 5qq B-qr tFr t crfr drff t a} {t M fir Eis{R la+qfl }rrn iir(rqT 3ifr cfterT fr ilr6't J}qffidr ffr{F
s-{ fr ilrwff aen e+Eq fr fi sri qr& ctsTBn fr iqR'rd *i qr eR cfr-q-ff arn kqr dTr'qr I

frfua c-ten * F-ftaTUr d'cftsn-#6 d'c-+er t c-d-d ilf,reft * gfrft-+-a, ccrv lh-{$, EdAtrn rn t :i@ *'fren-d *m;qFrrfr arrar,
sla) dtTfrr, frffi 3lt{ *f,-{ +l c-s}rr 3Tfr efiE-fr H arfu d-fi-d st d-+l ul wf $tr u+. :r*qei *'eena w +)f EsqT,rt&n a i q-h 

r

qftelT-ia d qit+f,a'qr ctqn-ffr it *e * qffF-dd * ,ftiq d fuS efi sTlq$ di errl-dr q* tr-qR'afi fr?Tr drr'4r I

qtfrqFn rcRr !der-(t-{ er'3cFqfr qi-+" tl Ji}qejt *' *-;T fuv 6'til ql fr-sn :+qeff t i*qr drc'qr | $sq$ str r€-.F c,lel t €.qrqfr
,3t{ qFirfl fr B"fr at srfiK fi ffi qrq'ari qr srrrreff +t qftejr jt sr&r €r gqqfr ;rfi A Grqrft slt{ {6 3Trc.{rEsF $frrirrr or crr
dflrt
{s oMR g(rr-c=l-n- €I d-d cft-sf d, W cfr, }rqtq cfr ('d $eq$ cfr r Ft *-qrft- 3rfra a 'mt I crMR jGrt qr+ €r #t cF-qt d'

ri-dt +t 3{aaT-3{TrrT mrm a mt t n*q$ qfreTI sqTtd A}i c{ 3rt.w.3{T{. rccR-q:rfi- #t efut df rre-4 far+ f{dr qar qf,tisr6- +'l €tc an
| 3r$qefi'cfr qer cfriarfi 6srr :tir4 mT+'r;i'e fr drm | 3l&!"ff 3Tqi €Tq Sr qfrelT gFc-or eni il uT q*-i t I

c-Sfi qea t qr{ ffi6 rat R('arq'F ffi $ *-{fi r'+ s& t I c-F}-fi cea *' rdr *. fra' oMn JrcR q-rfi ji *-e-r+ rs t'+ rir} +t
ta*rrfdTth+:+rqsfr=arva-gsHtoarnv+is1d-4{dT{T5qTrocr6T(rqr'*-+afurn+.rdqfd--+rt+1-;11ttrhiltstglfi
* frr' qfufr +r c-{ha;p6 +-rar t I

tS. qftel i; c?rq gtt 3rfr-ff *€'ft-d-c t dfu{ ffi efi :r*-qeff +t c-€rrrfl 1zY+fadrmal fr ar+ fi :rgef ;n-S fi orc,rt r

10. Rifr m 3rm"f si OMR 3if,{ qro srfr # fi %rffF- a-€i F r qtr +tt ovn 3d{ q:rfi urdil q|* +g a} vttfirm :s rl-r ',*irr, oc}
*-caqr1 3ttl;Tr 6gdr&r* +-r f}:fk ys .rr "frt-ga" frs ft} I

:+rq*:d{-q{6'6r ufq gi-+gif"fi *.ffrrr'iqTtrd + fI qn'rfi | 3nrqr qT rro-a eirt q{ 3rFr;Fr f,RT-c=r+' 3fit;q d c+,ar t t

gsr€ir 3{rdqq+- fa-awr erat@+. rrcR-q;rfi il' a+rar t | 3ffi{-qr-fi t ccms fI :r{fffr r€i H r

cr-r€ *'Ffr riinrri-dr st 'i"ri sqq il-d fr('sc dt €fr rfdrFH *l in r qfr :rrc qo t :rfu+ rtrd eif +rfrr fl-i H -il 3{Tc.+ :-car .F.I

qrrr qt"rr an'fi 3ttt$ r-an +.r ryui+-a afr d-qr r
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